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The proportion of cement, sand and

aggregates for M 20 grade concrete is

1) 1:2:4
1
(2) 1.15.3
3) 1:3:4
4) 1:4:3

Excessive nitrate in drinking water

causes

(1) Colour blindness

(2)  Fluorosis

(3) Methemoglobinemia
(4) Rickets

Water supply to a house begins with
connection of the service pipe with
municipal water mains. The connection
sequence comprises

A. Stopcock

B. Gooseneck
C. Ferrule

D. Water meter

Select the correct sequence from the
options given below :

1) AB,CD
2 C,AB,D
3 AB,D,C
4 C,B,AD

(3-A)

As per IS 1172-1971, the domestic water
consumption under normal conditions in
an Indian city is

(1) 135 1pcd
(2) 150 Iped
(3) 165 lpcd
(4) 200 lpcd

As per the National Building Code, all
foundations shall extend to a depth of
below ground level.

(1) 150 cm

(2) 50cm

3) 90 cm

(4) 100 cm

Door suitable for air-conditioned

buildings, which provides entrance to one
and exit to other simultaneously and
closes automatically when not in use is

(1) Revolving door
(2) Sliding door

(3) Swing door

(4) Collapsible door

In a plate load test bearing plate size
which is recommended is

(1) Minimum 30 cm, maximum 75 cm
(2) Minimum 50 cm, maximum 500 cm
(3) Minimum 100 cm, maximum 500 cm

(4) Minimum 75 cm, maximum 300 cm
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Coning of wheels is provided

(1) To check lateral movement of
wheels

(2) To avoid damage to inner faces of
rails

(83) To avoid discomfort to passengers

(4)  All of the above

The best method of disposal of refuse to
ensure complete destruction of pathogenic
bacteria is by

(1)
(2)
3)
(4)

Land disposal
Incineration
Pulverisation

Mechanical composting

If the magnetic bearing of a line is 48°24’
and magnetic declination is 5°38' East,
then the true bearing is

(1)
(2)
(3)
(4)

42°02'
42°46'
54°02'
54°46'
Materials in which the atoms are

arranged almost randomly, or those that
do not have crystalline structure, are

called as materials.
(1) Dbrittle

(2) amorphous

(3) ceramic

(4) elastic

G-A)

12.

13.

14.

the construction of

elements, partial or complete elimination

In

of formwork is possible.

ferrocement

(D)

concrete beam

(2)

(3) lintel

(4) PSC

A cantilever of length [ is subjected to a
couple M at its free end. The deflection
is

M2
]_ -
L 2EI
M2
2 -
@ 4 EI
M2
3 -
@) S EI
M2

@ 16 EI

In case of RCC, sodium benzoate can be
used for reducing

(1) Cracks

(2) Shrinkage
(3) Creep

Corrosion

(4)
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Which of the following is common, when a
valve closes suddenly at an end of a
pipeline system, and a pressure wave

propagates in the pipe ?
(1) Expansion

(2) Contraction

(3) Water hammer

Turbulent flow

(4)

The gas which is responsible for heart

attacks and high mortality rates caused

by incomplete combustion of organic
matter is
(1) Carbon monoxide

(2) Hydrogen sulphide

(3)

Nitrogen oxide

(4)  Sulphur dioxide

The system designed to capture, store,
manipulate, analyze, manage and present

spatial or geographical data can be

termed as

(1) GIS

(2) GPS

(3) Contours
(4) Topography

(7-A)

18.

19.

20.

21.

Which one of the following increases soil
strength and decreases soil’'s physical
fertility through decreasing storage and
supply of water and nutrients in cropping
systems ?

(D
(2)
3)
(4)

Soil compaction
Pore pressure
Moisture

Clay content

The value of the property shown in the
account books after allowing necessary
depreciation is called as

(D
(2)
(3)
4)

Scrap value
Salvage value
Book value

Market value

Which one the following has its own
prime movers and, thus, is capable of
moving freely on the project sites ?

(D)
(2)
3
(4)

Tower crane
Mobile crane
Lift

Wheel barrow

Flight in a staircase is defined as the
distance between

(1)

Two consecutive floors of a building

(2) Two consecutive steps in a staircase

(3) Two consecutive treads in a
staircase

(4) Two consecutive landings in a
staircase
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22. The slope of voids ratio versus log of | 25. As per IRC (Indian Road Congress), the

effective stress for a soil specimen gives maximum possible width of a vehicle will
(1) Coefficient of compressibility be
(1) 244m
(2)  Coefficient of volume change
(2) 344m
(3)  Coefficient of consolidation 3) 1-88m
(4) Compression index (4) 40m

23. Liquidity index for a soil with water 26. Nagpur Road Plan has recommended the

content w, plastic limit wp and liquid use of road pattern type of
limit wy, is given by the expression (1) Star and circular pattern
" W — Wp (2) Star and block pattern

Wi, — Wp (3) Star and grid pattern

(4) Star and hexagonal pattern
Wi, — W

2 —-

WL —Wp

) 27. The precipitation that occurs due to the
W[, - W
L—mp air masses striking natural topographical

W[, — Wp barriers is called as

(4)

WL - W (1) Cyeclonic precipitation
(2) Convective precipitation

24. “Composite Sleeper Index” is employed to (3)  Frontal precipitation

determine (4) Orographic precipitation

(1) Sleeper density requirement
28. Which of the following processes of

(2) Number of fixtures requirement for softening water may require

a particular type of sleeper recarbonation ?

(3) Durability of sleeper (1) Lime soda process
(4) Mechanical strength of wooden (2)  Sodium cation exchange process
sleepers, and thereby, gives its (3) Demineralisation process

suitability to be used as sleepers

(4) Hydrogen cation exchange process

266 9-A)
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Maximum slenderness ratio for tension
members shall not exceed

(1) 180

(2) 300

(3) 350

(4) 400

Plasticizers and superplasticizers are
used to

(1) Reduce % ratio

(2)
(3)
(4)

Increase workability
Increase strength

All of the above

The IS code used for the design of RC

elements is

(1) IS875
(2) IS 800
(3) IS 456
(4) IS8112

Theodolite is used to measure
(1)
(2)
(3)
(4)

Horizontal angle and vertical angle
Horizontal and vertical distance
RL at a point

None of the above

(11-A)

33.

34.

35.

An imaginary line joining the points of
equal elevation on the surface of the
Earth represents

(D)
(2)
3)
(4)

Contour gradient
Contour surface
Contour line

Level line

Closed contours of decreasing values

towards their centre, represent a
(1)
(2)
3)
(4)

Hill
Depression
Saddle
River bed

Consider the following statements :
In levelling operation

A.  When the instrument is being
shifted, the staff must not be moved.

B. When the staff is being carried
the
remain stationary.

forward, instrument must

Which of the above statements is/are
correct ?

Select the code for the correct answer
from the options given below :

(1)
(2)
(3)
(4)

A only

B only

Both A and B
Neither A nor B



36.

37.

38.

266

A0 BoewD) WWT wow  wEE  Boed
GTONATW  FFodoo0w,  TIVCL 2
Sedndn AWPOBTIN ool RONYR
ST Boed LVOLRMITTI), LoeriaITT

(1) Sz

(2) RoezTdor®

(8) O0DoLIeRT®

)
(4)  Aedorw

AGRTED TPECEF TR0 200830 (Regorv
wﬁw) PRI 0.QF°. @@F?’{\?d
50 QT80 BRI 233003

BRTERYLIDTT
(1) 10 0RND
(2) 30 ALORAD
(3) 60 QO|NE

(4) 600 OB/

© Readode mcﬁsd&l 3 Ebmrdéé WY
DRBNRIZTO

2500853
33003

(1) PRPRIT (:o”wons)

&3

(2) 2o mgs:dzoeosaé

(3) A0S IRFE TOTOF,E

(4) 200 FoeTs AT, F

(12-A)

39.

40.

41.

42,

VT LFBBLTOBE TRT To08,eer SBIRVR
B 3 CINT 10D BTFTTY ?

(1) G000 Fpees™ s UR,0T° A0

(2) IR maw AT

(3)  SEPNTBIMIT A0

(4) ASeer BETRETT 2008

DTS TeAWOEFNTE. mmsémﬁ $3
BB TOBT B

(D)

B3 7
]

(2) e

(8) FF

(4) B3 CIRRYP B

33 FPNT BNNREFNSE IRYTO Fo08,eeF T
NOF, ARG, QER?YTO ?

(1) oomNAT WNTees (RYFeR)

(2)  UTRRPAT BNTeT (BYFLR)

o

(3)

o

BY, BRTOOD eNFeT (HYFLR)

(4) PTCRTE Lnie (ROFL)

Be003Ry) B3 eI VW WOTIN
o WAON® YVOLRNIZT

5%

8%

11%
14%

(D
(2)
(3)
4)



36.

37.

38.

266

The operation of revolving a plane table
about its vertical axis so that all lines on

the sheet become parallel to
corresponding lines on the ground is
known as

(1) Levelling

(2) Centering

(3) Orientation

(4) Setting

The initial setting time for ordinary
portland cement as per IS specification
should not be less than

10 minutes

(1)

(2) 30 minutes
(3) 60 minutes
(4) 600 minutes
Le Chatelier’s device is used for

determining the

(1)

Setting time of cement
(2) Soundness of cement
(3)

Tensile strength of cement

(4)

Compressive strength of cement

(13-A)

39.

40.

41.

42.

Which of the following cements is suitable
for use in massive concrete structures

such as large dams ?
(1)
(2)
(3)
4)

Ordinary portland cement
Low heat cement
Rapid hardening cement

Sulphate resisting cement

The vehicle used in case of enamel paints

is usually
(1)
(2)
(3)
(4)

Linseed oil
Water
Varnish

None of the above

Which of the following aggregates gives

maximum strength in concrete ?
(1)
(2)
(3)
(4)

Rounded aggregate
Elongated aggregate
Flaky aggregate
Cubical aggregate

Maximum bulking of sand is likely to

occur at a moisture content of
(D)
(2)
(3)
(4)

5%
8%
11%
14%
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266 (14-A)



43. In PSC, concrete of high strength is used | 46. The vertical support reaction at A for the

because beam is

(1) It results in smaller cross-section 50 kN

(2) Bearing stresses are generated in 3m ‘L 2m
anchorage zones

(3) Shrinkage cracks are reduced T T

(4) All of the above

(1) 20kN
(2) 25kN
44. In case of forces, a couple means
(3) 30kN
(1) Two unequal forces acting at two
points (4) 50kN
(2) Two equal and like parallel forces
acting at two points 47. The value of vertical centroidal distance

) from the base for the triangle shown is
(3) Two equal and perpendicular forces

acting at two points

7'L
(4) Two equal and opposite forces E
acting at two points 'h
c b !
45. The vertical component of 20 kN force is :
a
A
20 kN d ; A
l
1 =
3
= X 21
(2) 3
(1) 20 cos 40°
2h
(2) 20 tan 40° (3) 5
(3) 20 sec 40° h
(4) 3

(4) 20 sin 40°

266 (15-A)
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The value of I, for the rectangle shown is

yy

1 —

(2) —

Q) —

4) —

The neutral axis of the cross-section of a
beam is that axis at which the bending
stress is

(1) Zero
(2) Minimum
(3) Maximum

(4) Infinity

Euler’s formula holds good only for
(1) Short columns
(2) Long columns
(3) Both short and long columns

(4) Intermediate columns

51.

52.

53.

54.

For a beam as shown below,
maximum deflection is

W

A 12 l 1/2 B
]
WL

3 EI

(D)

WL3

@ 48 EI

W2

3) SEL

5 WL

4) 2
@ 384 EI

the

A welded joint as compared to a riveted

joint has

(1) Same strength
(2) Less strength
(3) More strength
(4) Not predictable

The shear stress at the centre of a

circular shaft under torsion is
(1) Zero

(2) Minimum

(3) Maximum

(4) Infinity

Camber in the road is provided for

(1) Effective drainage

(2) Counteracting the centrifugal force

(3) Having proper sight distance
(4) None of the above

(17-A)
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A tunnel is found more advantageous as
compared to the alternate routes because
it

(1) Remains free from snow

(2) Reduces the cost by reducing the
route distance

(3) Avoids interference with surface
rights

(4) All of the above

Which is the best and most effective
method for the removal of organic
contaminant present in the polluted

water in  very small quantity
(< 200 mg/litre) ?

(1)
(2)
3)
(4)

Biological oxidation pond
Lagooning
Activated carbon adsorption

Chemical coagulation

If the dimensions and grade of concrete of
a beam are restricted then it can be

designed as which of the following
beams ?

(1)  Doubly reinforced

(2) Balanced

(3) T Beam

(4) L Beam

Rolled steel I-sections are most commonly
used as beams because they provide

(1)
(2)

Greater lateral stability

Large moment of resistance as
compared to other sections

Large MI with less C/S area
All of the above

3)
(4)

(19-A)

59.

60.

61.

62.

The distance between C.G. of compression
and C.G. of tension flanges of a plate
girder is known as

(1) Clear depth

(2)  Overall depth

(3) Effective depth
(4) None of the above

Slenderness ratio of a vertical column of a
circular cross-section of 10 cm diameter
and 3 m length is

(1) 100
(2) 120
(3) 240
(4) 360

If the shear force at a section on a beam is
zero, the BM at that section is

(D
(2)
(3)
(4)

Minimum
Zero
Maximum

None of the above

The resultant of the following force
system is

120 N

120 N

134:85 N
171-45 N
21812 N
100 N

(D
(2)
3
(4)
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Euler’s buckling load for a column with
one end fixed and other end hinged

condition is

2 EI

(1)

(2)

(3)

2 EI
412

(4)

For a simply supported beam which is
loaded the

compressive stress develops at

transversely, maximum

(1) The top layer

(2) The bottom layer

(3) Neutral axis

(4) Every cross section

Black cotton soil is wunsuitable for

foundations because

(1) Its permeability is uncertain

(2) Its bearing capacity is low

(8) Its particles are cohesive

(4) Of its property to undergo a

volumetric change due to variation
of moisture content

(21-A)

66.

67.

68.

Pick up the incorrect statement from the
following :

(1) In geometric stairs, a curved shaped
well between forward and backward

flights is provided.
(2)

In open-newel stairs, a rectangular
well is provided.

3) In geometric stairs, two
quarter-space landings are
provided.

(4) In dog-legged stairs, no space

between its flights is provided.

The horizontal angle between true
meridian and magnetic meridian is
known as

(1) Bearing

(2) Dip

3
(4)

Magnetic declination

Convergence

In levelling operation,

(1) The first sight on any change point

is a backsight
(2)

The line commences with a foresight
and closes with a backsight

3

The second sight on any change
point is a foresight

(4) The line commences with a
backsight and closes with a
foresight
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The reduced bearing of a line is N 75° W.
Its whole circle bearing is

(1) 75°
(2) 95°
(3) 15°
(4) 285°

In surveying total station can be used to
measure

(1)
(2)
(3)
(4)

Horizontal angle
Vertical angle
Sloping distance
All of the above

For quality control of Portland cement,
the test essentially done is

(1)  Soundness

(2) Tensile strength

(3) Setting time

(4)  All of the above

The maximum area of tension
reinforcement in beams shall not exceed
1) 1%

(2) 4%

3) 5%

4) 015%

The norm of providing standby equipment
for one shift operation is

(1) 6%

(2) 10%
3) 20%
(4)  25%

74.

75.

76.

717.

A revised estimate is
sanctioned estimate exceeds

(1 3%
(2)
3)
(4)

prepared if

5%
8%
10%

The effective length of a compression
member of length L, held in position and
restrained in direction at both ends is

(1) L
(2)
(3)
4)

0-:67 LL
0-85 L
1-5L

When two plates are placed end to end
and are joined by two cover plates, the
joint is known as

(D)
(2)
(3)
(4)

Chain riveted lap joint
Double cover butt joint
Zig-zag riveted lap joint

Butt joint

High pressure grouting is generally used
for concrete in the lining if the rock strata
is

(1)
(2)
(3)

(4)

Highly fissured

Poor

Likely to get seepage of water
All of the above

(23-A)
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83.

84.

85.
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The flow in open channel is said to be
sub-critical if the Froude number is

(1) Lessthan 1-0
(2) Equalto1-0
(3) Greater than 1-0

None of the above

(4)

The surface run-off is the quantity of
water

(1) Absorbed by soil

(2)

Intercepted by buildings and

vegetative cover
(3)
(4)

Required to fill surface depressions

That reaches the stream channels

The main function of a diversion head
works of a canal from a river is to

(1)
(2)
(3)
(4)

Remove silt
Control floods
Store water

Raise water level

The consumptive use of water for a crop

(D

Is measured as the volume of water
per unit area

(2)

Is measured as depth of water on
irrigated area

(3) May be supplied partly by
precipitation and  partly by
irrigation

(4)  All of the above

(25-A)

82.

83.

84.

85.

A temporary rigid structure having
platforms to enable masons to work at
different stages of a building is known as

which of the following ?
(1) Scaffolding

(2) Dead shore

(3) Raking shore

(4)

Under pinning

In an ideal transition curve, the radius of
curvature is

(D)
(2)

Constant

Directly proportional to its distance
from the point of commencement

3)

Inversely proportional to radius of
main curve

(4)

Directly proportional to radius of
main curve

The absolute minimum sight distance
required for stopping a vehicle moving
with a speed of 80 kmph is

(assuming t = 2-5 s, f = 0-36)

(1) 125m

(2) 200m

(3) 640m

None of the above

(4)

If V is speed in km/hr and R is radius of
the curve, the super-elevation ‘e’ is equal
to

(1)

(2)

3)

(4)
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In Construction Management, the Critical
Path Network helps an engineer

(1) To concentrate his attention on
critical activities

(2) To divert the resources from
non-critical advanced activities to
critical activities

(3) To be cautious for avoiding any

delay in the critical activities to
avoid delay of the whole project

(4) All of the above

The process of proper and accurate
measurement of concrete ingredients for

uniformity of proportion is known as

(1) Grading
(2) Curing
(3) Mixing
(4) Batching

Cross regulators in main canals are

provided

(1) To regulate water supply in the
distributaries

(2) To increase water head upstream
when a main canal is running with
low supplies

(3) To overflow excessive flow water

(4) None of the above

(27 -A)

89.

90.

91.

92.

93.

For ductile materials, the most

appropriate failure theory is

(1)
(2)
(3)
(4)
Moment of inertia of a rectangular plate

of width b and height h about the
centroidal axis is

bh?2
3
b%h

6
bh?3
12
b3h
12
The nominal size of aggregates generally

considered satisfactory to be used in RCC
work is

(D)
(2)
(3)
(4)

Long span concrete bridges are usually
constructed as a

(D)
(2)

Maximum shear stress theory
Maximum principal stress theory
Maximum principal strain theory

Shear strain energy theory

(D)

(2)

3)

(4)

10 mm
12:5 mm
20 mm

40 mm

Prestressed slab

Reinforced concrete beam and slab
type

(3) Composite, prestressed beam type
(4)
Piezometric head is the sum of
(1)
(2)
(3)
(4)

Prestressed box-girder type

Velocity head and pressure head
Pressure head and datum head
Datum head and velocity head

Velocity head, pressure head and
datum head
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“Eddy viscosity” means that it is

(1) Physical property of the fluid

(2) Same as the “Kinematic viscosity”

(3) Always associated with laminar
flow

(4) An apparent viscosity due to

turbulent flow

Mean precipitation over an area is best
obtained from the grouped amounts by

(1) Arithmetic mean method
(2)

3)

Thiessen method

Linearly interpolated isohyetal

method

(4)  Orographically weighted isohyetal

method

In the Revised CBR design method
recommended by the IRC (Indian Road
Congress) for the design of flexible
pavement, the total thickness depends

upon
(1)
(2)

CBR value of soil only

CBR value of soil and magnitude of
wheel load

CBR value of soil and number of
commercial vehicles per day

(3

CBR value of soil and cumulative
standard axle loads

4)
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97.

98.
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Which of the following is a hardwood ?
(D
(2)
3)
(4)

Mahogany
Deodar
Kail

Chir

Systematic Errors are those

(D)

Whose effects are cumulative and
can be eliminated

(2)
(3)
(4)

Which cannot be recognised
Whose character is not understood

Whose effect in recognised but
character is not understood

The quickest and most accurate method
to solve three-point problem in resection
of plane tabling is

(D
(2)
(3)
4)

Mechanical method
Bessel’s Graphical method
Lehman’s Trial and Error method

Tracing Paper method

Offsets are

(D

Lateral measurements made with
respect to main survey lines

(2)

Perpendicular erected from chain
lines

3

Taken to avoid unnecessary walking
between stations

Measurements which are not made
at right angles to chain line

(4)
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10.

INSTRUCTIONS

Immediately after the commencement of the Examination, you should check that this Question Booklet does NOT have any
unprinted or torn or missing pages or questions etc. If so, get it replaced by a complete ‘Question Booklet’ of the same Question
Paper Version Code as printed in your OMR Answer Sheet.

Candidate has to insure that Question Paper Version Code of the Question Booklet given is same as the Question
Paper Version Code printed on OMR Answer Sheet. Discrepancy, if any should be reported to the Invigilator and
a new Question Booklet should be taken whose Question Paper Version Code tallies with the Question Paper
Version Code printed on the OMR Answer Sheet.

You have to enter your Register Number in the

Register Number

Question Booklet in the box provided alongside.
DO NOT write anything else on the Question Booklet.

This Question Booklet contains 100 questions. Each question contains four responses (answers). Select the response
which you want to mark on the Answer Sheet. In case you feel that there is more than one correct response, mark the response
which you consider the most appropriate. In any case, choose ONLY ONE RESPONSE for each question.

All the responses should be marked ONLY on the separate OMR Answer Sheet provided and ONLY in Black or Blue Ball
Point Pen. See detailed instructions in the OMR Answer Sheet.

All questions carry equal marks. Attempt all questions.

Sheets for rough work are appended in the Question Booklet at the end. You should not make any marking on any other part of
the Question Booklet.

Immediately after the final bell indicating the conclusion of the examination, stop making any further markings in the OMR
Answer Sheet. Be seated till the OMR Answer Sheets are collected and accounted for by the Invigilator.

Questions are printed both in Kannada and English. If any confusion arises in the Kannada Version, please refer
to the English Version of the questions. Please note that in case of any confusion the English Version of the
Question Booklet is final.

Penalty for wrong the answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE IN THE OBJECTIVE TYPE QUESTION
PAPERS.

1) There are four alternatives for the answer to every question. For each question for which a wrong answer has been given
by the candidate, one-fourth of the marks assigned to that question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given answers
happens to be correct and there will be same penalty as above to that question.

(ii1)) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that question.

Possession of Mobile Phones and other Electronic/Communication gadgets of any kind is prohibited inside the

Examination venue.
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